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Instructions : - 1. Check the question paper for faimess of printing. If here is any
lack of fairness, inform the Hall suparvisor immediately.
2. Jse Blue (or) Black ink to write and underline and pencil to
draw diagrams.

||@§'|-|1'F"ar|:—| 15%1=15

gy T 1. syawengg allswrssgns o allewallssan
2. Qarpssiul preang  aleoosefle  dsapn  srhysew
sllenemug Baidabdsn Wl Hodar almoalamaruyn
Gai g s1ps1a.
Mote 1- 1. Answer all the questions
2. Choose the most suitable answer from the given four
alternatives and write the option code with the corresponding
NEWer
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Channel protein adopts to transport ions by

a. Facilitated diffusion b. Active fransport
c. Both A and B d. Mone of the above
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Clathrin coated pits assist in

a. recaptor mediated andocytosis b. Exocytosis
. phagocytosis d. diffusion
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Absorption of amino acid requires
a. glutathione b. lipid
¢. nucleic acid d. Catecholamines
4, udl & _awienes L& gori G
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Haormone helps to suppress our appetite is
a. ghrelin b. PYY
c. enterogastrone d. Motilin



5. glanerdsrsffan whpib TCA sphfow Gemardms Gprs
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@&. LDH . eumEa’ gemand ErrEm G
The enzyme that links glycolysis and TCA cycle is

a. glucokinase b. PFK

c. LOH d. Pyruvate dehydrogenase

. uprmreiray syl Garnger BlspEairEs s iy w §amenE sre
. il rdsra) ursoGun’ 2, EemanGlnrsd Q
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The coenzyme involved in transamination is

a. pyridoxal phosphate b. Coenzyme Q

c. thiamine d. Pyridoxamine phosphate
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For the given assertion and reasen identify the suitable answer

Assertion | GDH plays a major rale in nitrogen metabolism

Reason: Glutamate act as a sink for amino groups of amino acids

a. If both A and R are true and R is correct explanation of A

b. If both A and R are true but R is not the correct explanation of A

c. If R is true but A is False

d. If both A and R are false.



B. @rds Garavsivgrrailer Hwdumer sy

. <200mg/dL = <250 mg/dL

@. = 300 mg { dL . > 200 mg/dL

Mormal value of total biood cholesterol level is

a. < 200mg / dL b. <250 mg/dL

c. < 300 mg /dL d.>200mg/dL
9. Gsromer Gui@Gursnen gufGarr guflwdgens gplaans.

=y AUG =, AGG

[3.GUA . GGU

The codon _ codes for the amino acid methionine.

a. AUG b. AGG

c.GUA d. GGU
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Liver failure and mental retardation are symptoms of

a. vongierke's disease b/ galactosemia

¢. albinism d. calcium-ions
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The correct match of the clotting factors and their names, is

| - | I} antihemophilic factor

i - | ii) fibrinogen

VIl | - | i) Fibrin stabilizing factor
A | = | iv) prothrombin 1
a. i [ v iii

b. jii i ii 0

c. | v i lii

d. | i iii ]
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. DNP = DTT
- e . Grmiy Serrsi
An uncoupler of oxidative phosphorylation is
a. DNP b. DTT
c. azide d. Rotenone
13.Gurin s saremuwuhn sEHE00, SH 00T ot a7 i {pie Ueeawdling.
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In uncompetitive inhibition inhibiter binds only to
a. enzyme b. substrate
¢. ES complex d. active site
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Which one of the following disease is an epidemic disease?
a. AlDS b. common cold

c. rabies C. plague
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What is the alternative name for antiglobulin test?

a. VDRL test b. cooms test

¢. rabies test d. koch test
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T3samb ) slaTasEsasEs afmwalssab. il stalr 24 4 & rwisrs
allen_weaflss EauammEib. Gu2=12

Answer any six from the following question. Question No. 24 is compulsory.

16. @en_OGurdlay syaowiy wrgfulld gmmpurBsdaT wrana?
What are the drawbacks of sandwich model ?

17, & BT s rTaTSeT sTETDTE) eraear?
What are chylomicrons?

18. impms G rblmatls o Garr pyullsofissr sreimpre srsiren?
Whatare glucogenicaming acids?

19.AST wra aflenarCais wrhmsglinh o 1 0RbD almarsmer &ms.
Give the reaction catalyzed by AST

20. Gom G onTsalse Ut Bsiph wrDnRiSmeT sTIpEs.
Write about post — Translational modifications.

21, my el Garhm gpHiss usrarihs b srarmra) sTemer 7
What is redox potential?

22 e GErHls sHHm0 erehmTed eraivem?
What iz irreversible enzyme inhibition?

23, Bumufiers susmrwimy.
Dafine epidemiclogy.

24, Rarsvsityrrsd suripaling péflwurarg = Buruiubsss.
Cholesterol is essential to life. Justify
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ailen L weflis Gasin{in. Gx3=18
Answer six from the following questions, Question No. 33 is compulsory

25. #suey s rmibsar ubH @iy susnrs.
Write a note on membrane sterols.

26. @smpliysst Qe bsdiuGsad Ulgs Wifisr uGims aflars@s.
Bring out the role of bile in digestion of fats,

27 o_awamr Havaulso Heflsrra g sy HehdCarBGurBmdlon Cruwdympés
e U uBsEing?
During starvation how glycerol undergo gluconsogenesis.

28. OB nCusir srueury Furfearrs wrdHnlu@aEng?
How is tryptophan converted to niacin?

23. A Grrevslaf Croflan Lpe wdliy wmrs.
Give an account on atherosclerosis

30. ywss g o uiPwallsr eniowsEari ur s (BT T TG
Write in brief about the cenlral dogma of miolécular biology.

3. il sails 550 61 QusHas o e s i
Describe the types of albinism

32, Cougld ssivgy® Liraud) Blsreiransulsr FMOLIDFEIKENGT TS5,
Write about the features of chemiosmotic coupling theory.

33. Clersvallphigm s fasupin L L saer aflerdms?
Explain about the steps involved in phagocytosis.

uiggl = IV / Part - |V
Hmarhg allarrdsems o alocwaldsa)i.
Answer all questions ExB=25
3. arf o GarrUilhr srdisi senred Sfemwiiy upol allardsss.
(apebeug)
@mrisnufier Grwdiur Hamar L tg gl (B,



Write about the haemoglobin buffer system
(or)
List the functions of stomach

35, dmerssrsiiFfisn Glewstypanpullar BEriT allmeaTsaneT sTULHIS.
(oyeievsi)

sm& BrmrAe stavsumay stllEsOferrs wrhnouGE DY
Write the reactions sequences of glycolysis?

(or)
How tyrosine is converted to epinephrina?

36, Gsragliyg suflestsdt gifpGarhnd upl sméswrs allars s
(sysveuzi)
LG CafiGum’ Rasr whnns ysEsflurs’ Haafia Bsupin wry sesad
Ghor B §selisr Grwdppen msensr SamliuEEsIS.
Give an account on oxidation of fatty acids.
(or)
Differentiate between the process of translation in prokaryotes and eukaryotes

37. GLardav Grrullsir srre whmb spflisifsmer alladf s
(orsz1)
ATP A Guedlar augaueniolin) o) bFdissnar ailards s,
Describe the causes and symptoms of Tay — sach's disease
{or)
Describe the structural features of ATP synthase.
38, Guril g ssremwnuster sHRbSO6 Smdans afeuf]
(opeiaoz)
ClousiGoum) susmswmar e L DSTOL (PaBRIGMST g S L auspsruild) Gamiubsss.
Explain the concept of competitive inhibition
(or)
Diffarentiate different types of antibodies with a neat table.



